
SPINDLES/NUTS/WAHERS/BRAKE FLANGES

SPINDLES

217 Zerk Fitting

218 BT8/  1 1/16" Posi Lube w/o Flange

219 84/  1 1/16 x 1 3/8" Posi Lube w/ Flange

219a 84/  1 1/16 x 1 3/8" w/o Flange

220 84/  1 1/16 x 1 3/8"  4" Drop  

221 84/  1 1/16 x 1 3/8" Butt

223 84/  1 1/16 x 1 3/8"  Long Shaft

229 84/ Torsion Double headed      

228a 84/ Torsion Arm Spindle w/ Spline 

225 42/  1 1/4 x 1 3/4"  4" Drop  

226 42/  1 1/4 x 1 3/4"   Butt 

224 42/  1 1/4 x 1 3/4"   Long Shaft

228 42/ Torsion Double headed    

BRAKE FLANGES

230 84/ 1 3/4" Round Center 4 Hole (use on 84 strt)

222 84/ 2 1/4" Round Center 4 Hole (use on 84 butt)

23sq 42/ 2" Square Center 5 Hole (use on 42 long )

227 42/ 2 3/4" Round Center 5 Hole (use on 42 butt )

231 42/ 3" Round Center 5 Hole (use on 42 butt on pipe )

SPINDLE NUTS & WASHERS
237 3/4" Nut

238 3/4" Plain Washer

232 1" Nut

233 1" Plain Washer

234 1" D Washer              

235 1" Tang Washer

236 1" Tongue Washer

239B Cookie Cutter

239C 13/16" Nut Hub use w/ cookie cutter

235A Spindle Nut Retainer      yellow

2312N 1 1/2" -12 Hex Jam Nut

2312TG 1 1/2" Tang Locking Washer

2312TN 1 1/2" Tongue Washer

2334N 1 3/4" -12 Hex Jam Nut

2334TG 1 3/4" Tang Locking Washer

2334TN 1 3/4" Tongue Washer

REVISED OCT 13


